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1 541.4  28.74
2 5958.8  23.67
3 570.9  21.59
4 578.3 19.42
) 585.0 17.52
6 586.8 16.32
7 594.9 14.08
8 600.3 13.14
9 602.4 1248
10  601.4 12.08
11 604.2 11.95
12 605.1 11.40
13 6059 11.36
14 607.6 11.14
15 607.7 11.00
16 608.5 10.77
17 608.5 10.64
18 609.3 10.60
19  609.8 10.55
20 610.1 995




38 040 0000

gooboogbogood

Noise vs Bias Voltage
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00000000000 2410 Pul /beta- 000000000 241Am
000000000 (1944) 0000000 9400000000000
000000000120 1.81A0000000 24102430 AmO 00O
goboboboobgobbb24i1ddgooooooonon

0(42)00000000000000000000000O0 70keVO

241 Am

afi (5.33MeV) :113%
afp (5.58MeV) :86%

v #% (26. 35keV) :2. 5%

| 748 (59.54keV) :36%
237Np e
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5.2.1 0O0OOOOO

|
i Pre—Amp

MU>TITW
OO >

Gate

Mmoo —<<—0O

| M oOoOX—H=Z00 mMmM—>200 |

VO—T>IV>=MD M—A>D

TOo—r=Z—=—2000N—0

Linux PC98 —
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DIVIDER: 00O 2000000
DISCRIMINATOR: thresholdO OO OOOOOOOOO0OOOOOO

GATE GENERATOR: 0 00OO00D0OO gated widthO OO OO O
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5.2.2 threshold OO0

O00000000ODISCRIMINATOR O thresholdD OO OO0 (4.17)
ODO000000b0o0obOOob00OOonD Vhas=1VOOOOOOOOOOO
O00000AmO00000O0O00O0O0O 83.1mV U thresholdd OO0
HEN

< L ID 10

<« L Fntries 10000

SN700 |- Mean 77.88

0 x RMS 29.29

5 - Yo /ndf 2146, / 76

5 B Constant 665.0
600 = Mean 69.46

- | :

@) Sigma 14.15

- i

)

H@)

£ 500

D

=

400 —
300
200
100
o L o
Q 50 100 150 200 250 300
ADC count

0 s54: 00000
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= | 1D 10
D00 L Entries 5000
™~ L Mean 105.3
0 - RMS 30.75
C |-
() L
L 700
3 |
o |
O L
(- L
& 600
9 |
g |-
5 |
~ 500
400 +
300 +
200 +
100
O i | | ‘ | |
0 400 500
ADC count

O 5.5: threshold = 68.9mV



s ODoggooboggd

1200 + D 10

| Entries 10000

| Mean 185.6

RMS 48.81

r Y /ndf  31.48 / 15

1000 + P1 425.3

L P2 242.7

L P3 12.10

| P4 1424,

P5 —9.867

800 = P6 0.1726E-01
600 —
400 |-
200 |-

o J ’7 ‘41_’1 |

a 100 400 500

O 5.6: threshold = 83.1mV



52. AmQO0O0O 45

5.2.3 shapingtime ] [J [

shapingtme 0 DO O 010000000000 OOOOOOO

ID 10

1000 Entries 10000

B Mean 174.5

L RMS 52.70

¥x2/ndf 2791 / 15

i P 296.1

800 — P2 2431

B P3 16.71

P4 1128.

| P5 —8.189

= P6 0.1488E-01
600 —
400 —
200 —

0 | S ey B

400 500

O 5.7: shpingtime = 0.5usec
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1200 D 10

| Entries 10000

| Mean 185.6

RMS 48 .81

i X2/ndf  31.48 / 15

1000 P 4253

= P2 242.7

i P3 12.10

| P4 1424,

P5 -9.867

800 P6 0.1726E-01
600 |-
400
200 |-

O L J ’7 \H L L

Q 100 400 500

0 5.8: shapingtime = lusec
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B ID 10

F Entries 10000

1200 — Mean 166.8

L RMS 53.60

L ¥2/ndf 1290 / 15

L P1 234.0

1000 P2 247.4

| P3 11.14

| P4 582.4

P5 -3.328

i P6 0.4733E-02
800 —
600 -
400 —
200 —

O L ‘ L \H—l— P S |
0 100 400 500

O 5.9: shapingtime = 2usec
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L D 10
L Entries 10000
| Mean 170.8
RMS 47.97
1000 = /ndf 1883 / 15
- P1 212.2
| P2 243.3
| P3 11.16
on P4 1256.
P5 ~8.650
- P6 0.1519E—01
600 |-
400 |-
200 |-
O ‘ | | _—J P _
0 100 400 500

O 5.10: shapingtime = 3usec
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ID 10

1000 — Entries 10000

L Mean 172.6

RMS 50.38

x2/ndf 11,15 /15

- P1 97.14

800 I P2 238.4

P3 17.75

i P4 1303.

- P5 —-8.650

| P6 0.1471E-01
600 -
400 -
200 —

O ‘ L LﬁA—L'—_——l_.—._l L

0 100 400 500

O 5.11: shapingtime = 6usec
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Shapingtime vs Sigma
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6.1 ADC count [0 electronl [1 [ [

O0(G.1H)O0O0DAmODO 60keVO 0000000000 OOOOO Si
OoobooooobooooboooooooobonD 3eevOUoooono
gd

60 x 10°
"= T8

0 (5.4)00 (5.9)00 000 16.7x10%lectron 0 00 0 0 ADC count 0 0

246.7countd 69.46count 1 0000 0OOO0OO O

~ 16.7 x 10*(electron) (6.1)

e 16.7 x 10°
e _ . (6.2)
ADC  246.7 — 69.46
~ 94.22(electron/ADC count) (6.3)

Oobob00O0OO0electron00 00000000 0O0OO0OOOOO0ODODOOO
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, Test Pulse vs peak-ped
x 10
2500 —

o
2000 —
o
=
(@]
=1500
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@/ | o
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o
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L o

O \\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\

0 2.5 5 7.5 10 12.5 15 17.5 20

Test Pulse (mv)

0 6.1:
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, Test Pulse vs peak-ped
x 10
2500 —
R
2000 —
-

=
2
91500
o
T
3
o
1000 +
8
o

500 +—

O \\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\

0 2.5 5 7.5 10 12.5 15 17.5 20
Test Pulse (mv)

0 6.2:

OO0D000 fitD Dy =a1x+ao 000 ap =3925.1 4+ 4130.0,
a; = 13265. £521.4900 2000000000000
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Shapingtime vs sigma(electron)
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6.2 U0OOOOO0

6.2.1 Pre-AmpUO 000000

PreAmpO0 D0 0O0000DO0OOO0OOODODOOODOOOODODOOO
0000000000000 00 (Doooooo)ooooooooOd
0000 (D0o0O0)ooooooo

oogoono
(€n2)total = (enz)h + (€n2)s (6.4)
ogdod
8 kT 1 3kT
W), =0/ 4 ST 6.5
(6 )h 3dngM+4RfM ( )
ooogogg
1
(en), = §TM2queak (6.6)
Cy: 0000

k0000000

Ty : shapingtime

T: 00

R, 000000000 (1000M$2)
liea, : 00000 (10nA)

gn: 000000000

qg: 00
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0000 C;,00 (3.17) 0000000

A
Cd = SE (67)

OOooO nBvoooooooooD 200embO0O0000e=12¢¢0 00

0.775 x 1.81 x 1074

Cq=12 x 8.854 x 107"* x — (6.8)
200 x 10
~ 74.5(pF) (6.9)
0000000000 shapingtimeT,, 00000000
0000
1
(en?)n =~ 4.308 x 10—34T— 4 0.0552 x 107" T, (6.10)
M
0000000
(en?)s = 10.67 x 10734 Ty, (6.11)

go200000b00400d

0 6.1: PreAmp 000000 (¢?)

shapingime(usec) 0000 (¢3) 0000000 (¢?) Total DODO (c2)

0.2 21.5x1073 2.13x1073 23.6x1073
0.5 8.64x10734 5.35x10734 13.9x 1073
1 4.36x1073 10.6x 10734 15.0x 10734
2 2.26x10734 21.3x10734 23.6x10734
3 1.60x1073 32.0x10734 33.6x10734
6 1.04x1073 64.0x10734 65.0x10734
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0000000 eledtron 000000 Olelectrond 01.6x10"(c)00 O

0 6.2: PreeAmpO0 00000 (electron)

shapingtime(usec) 0000 (e¢) DOO0O OO0 (e) Total D OO (e)

0.2 296.6 91.3 304
0.5 193.4 144 234
1 144.4 204 242
2 111.8 289 304
3 100.3 354 362
6 88.93 500 504

gooboogbogood

Shapingtime vs Noise

600

Total Noise T

Shot Noise

|

Thermal Noise

o b v v
’ Sh?;tpingti?ne(miérosecosnd)

0 6.5:
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6.2.2 AmO0000000O0OOO

O500 AmO0000000000O00O0O0O PreAmpOQOQ0QOQ0O
gooboogouod
AmOO00O0O0DO PreeAmpO0O0D00DOO0OODOODOOOO

063 AmO000000O
shapingtime(usec) mnoise(ADC count) noise(electron)

0.5 16.71 1574
1 12.1 1140
2 11.14 1049
3 11.16 1051
6 1608 1515

1000000000 b00gbOon shapingtime2usecdd 0000
ooooooo

AmO00000 1049(electron)
Pre-AmpO0 000000 304(electron)

O00000AmOO0OO00000 PreAmpO000000O0 300000
0000000000 0Pre-Amp0000 (PreeAmp0 00000000
Shaper Divider O Discriminator 0 Gate GeneratorJ ADC)0 0 000 O
O00o00000
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shapingtme 0 U 00O O0O00O0O0OO0OO0OOODDOOOOODOOOO O

Ojikken = 4/ % + b1y (6.12)

O00 AmO0D0O0000O00O aO0bODOOOO

1310401
Onoise = \/ + 2226007 (6.13)
Ty

00000000000 AmOOOO0OOODO (64000000
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Shapingtime vs Noise
2500
2000 |
9
O
1500 |- E?
5 c
O O
: [ .+ O | |
%3 | oooooOOOOOOOOO‘OO
% OOOO§OOOOoooooEooooooOOO
SéOOQ L
©
Pz
500 = . e
0 | | ‘ | | \ | | ‘ ‘ | ‘ | ‘
0 : ! L 5 6
Shapingtime (micro second)
0 6.6:
o AmJO0O

o:0 (6.13)0 Ty O

o:0 (6.13)

100

Ty




62 gell DUOOOO

0000000000000 (610000 (6.11) 0000000000
gooogno

16828
Grivon = \/ o L 41895T ), (6.14)
T
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ikken /1310401
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Ty OOOO
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